
Figure 12: The number of deaths in New-World populations using (A) mass vaccination and (B)

trace vaccination given an outbreak in a city of 10 million. The grey histogram in each panel shows

the case in which we assume that there is no uncertainty in any SEIR model parameter exceptR0

(“fixed”), while the black-outlined histogram shows the case in which we instead assume that all

model parameters are uncertain, and we have integrated out all the other parameters (“variable”).

Note differences in scales on the axes.
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